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(1.2)3+(0.8)3+(0.7)3-2.016 .

1.35[(1.2)2+(0.8)2+(0.7)2—-0.96—-0.84—0.56]
a)l/ b)1/2 c)l d)2
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If (a+ b +c)=15and a? + b%? + ¢? = 153, then a® + b3 + ¢3 — 3abc =?
a)1755 b)1905 ¢)1605 d)2155
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(1). Ifa+b+c=0then,a’ + b + ¢ —3abc =0
ora’ +b + ¢ =3abc

(2). If @’ + b+ ¢ — 3abc then two cases are possible
@) atb+c=0

or (b)a2+b2+cz—ab—bc—ca=0 —a=b=c
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1 1 1

If as + b3 + ¢3 = 0, then (a + b + ¢)° is equal to:

1 1 1
qEas+b3s+c3 =08 (a+ b+ c)® TEI§:
A) 81 abc B) 729 a’b?*c? C) 729abc D) 81 a’b?c?
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If (2x+3)3+(x-8)3+(x+13)*=(2x+3)(3x-24)(x+13), then what is the value of x?
a)-1.5

b)-2.5
c)-2

. 01:00
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If (5x+1)°+ (x —3)%>+8(3x—4)% = 6(5x+ 1)(x — 3)(3x — 4), then x is equal to:
ale (5x+1)°+ (x—3)3+8Bx—-4)?=60Gx+1)(x—3)3x—4), A xaTqHT :
(a) > (b) > ©7 (d) =
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If x +y+z =19, xy + yz + zx = 114, then the value of \/x3 +y3 + z3 —3xyz is:
e x+y+z=19, xy+yz+zx=114 2, @ /x3 +y3 + z3 - 3xyz &1 a9 &M

(a) 21 (b) 17 (c) 19 (d) 13
01:00
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If a+ b+ c¢=7and ab + bc + ca =1, then a® + b® + ¢’ — 3abc is equal to:
afe a+b+c¢=7 3k ab+bec+ca=12 a’+b3+c®—3abe at svEw 2—
(a) 322 (b) 325 (¢) 412 (d) 422
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Ifa+b+c=6anda®+b’+c®>—3abc=126, then ab + bc + ca is equal to:
afe a+b+c=6 3iv a®+ b3+ c®>—3abc=1262 ql ab + bc + ca &% 2-
(a) 5 (b) 6 (c) 12 (d) 8
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x—y+z

=7

If x* + y* + z* = 108 and x + y + z = 18, then find e
a)6 d)3 o)1 d)2
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It x+}r+z=4\[6 and x* + y* + z* = 32, then x:y:z=?
a)l:1:1 b)1:2:3 c)1:3:4 d)3:2:1

01:00




It x+y+z=9\/5 and x* + y* + z*> = 135, then -
46+/5 4645 465
a) 15 b) 5 c) 9

463
d) o
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